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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. This question paper is divided into two sections A and B. |

3. Each question in Section A carries 15 marks and each question in Section B
carries 20 marks.

. 4. Attempt only one question from Section A and answer any three questions from

Section B.

5. Answeré‘ thay be written in Hindi or English but the same medium should be
followed throughout the paper.
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SECTION A
(¥mr &)

1. “Explanations for poor economic performance in colonial India that focus on
colonialism are misconceived, the economic decline in the 19™ and early 20*
century were a result of poor resource endowments of India.” In light of the
above statement discuss and contrast the externalist and internalist views on the
causes of slow economic growth during the British rule in India.
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2. “The British left India because India ceased to be an economic asset worth
possessing.” Do you agree ? Give reasons in support of your answer.
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3. “The vibrant export of textiles and large-scale import of money are evidence of
sophisticated commercial mercantile system prevalent in India during the period
1500-1800.” Do you agree with the above contention ? Give reasons in support
of your answer.
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SECTION B
(v @)

4. “The first half of the 19" century represented a missed opportunity for economic
life in the subcontinent, it was largely so because East India Company ruled India
on a profit-loss basis.” Discuss.
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5. What are the main causes of the rapid increase in the Indian population after
1921 ? Do you agree with Sumit Guha’s contention that weather conditions had
an important role to play in it ? Explain.
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6. Discuss the impact of commercialisation of Indian agriculture, particularly in the
period of opening up of agriculture to international trade.
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7. “Famine policy in British India was constrained not by the lack of infrastructure,
but by the notion of what the country can bear.” Discuss.
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8. In light of India’s small scale industrialization experience during the British
rule critically examine Tirthankar Roy’s assertion that “[a]t different times and
places — eighteenth century E'uropc, twentieth-century east Asia and colonial
India — a form of industrialization occurred that was based on utilizing labour

more productively, rather than on replacing labour by machinery.”
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9.

10.

“In the first half of the twentieth century it was the India entrepreneur rather than
the British one who responded creatively to opportunities for industrial investment.”
Discuss.
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In what way did the railways affect the growth of the Indian economy ? Would
you agree that the railways were developed in India primarily to serve colonial
objectives and thus failed to play a transformative role.
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